it =

X %

e
_

* RGO A gt EREFN Y RES RL AR L%

% %3%;%&/5%?{&500%/Dr&1, 000~/ 1¢ %2,000~/[]° ® %3,000~/[1% &

4,000~/ IFt A& X ALY FARA L TR BM 2 M BERE  TRAEHY Gk
- BEPEA SN RS Y GHRGE BN 2 (8% ¥ g s Bl - e 2 AR B o 10 b oerat

i AR ORR pREFTEIRLGR ,T,;ifIf:]—? iC AR Wwe P2 I

R

m: ﬂ’/{f‘l‘

A

I

=

Vs

I~
o F&‘QFF‘IS%IZT'&”’P% .k;,‘é'-_
e FAE//"\ i%ﬁp

RN

k

)

Z .
.
A

N
(i

‘\1

Eak:%

I]\
S

h 2L .
0 e .




it =

AR ¥

TR R LR PR B R EERES R

ATR (XB) A mFao
I 4

;}'J»,-m .ITIF‘]"

MUACTE (6%

EC B (%

- A = N At g -\—J—-"}_
FAAeR BB AT K A R REANRAELET

F T A E/A’\ ’?%’;o

%

,\s

B 12,

“'3\~\

o>
oy

EIE LI

(BT TR LR R B RE LR A )

[t = FTH] <& L4 BRI 4T s AR LR FEE R i LS

PSR

BRI LA

B oz
7, :

EEE



